> @ § 308143 B DY F L £
1 1
2+6-5= ~—32+8=
2 3
11 1 L2
—+ — X — = S Z_ -
6 4 4 553573
3
- —4=+1= E—éxl:
4 4 43
1 3 3 3
X o= S1]-2=
6 5 3 77 q
1 1
—+6+2= Z—10+2=
3 2

www.snowmath.com



https://www.snowmath.com

9 @ ﬁ 3B 50 W 1 Y O 2

4 1. pan 16
1 13 1 1 11 2

D+6— == —=6= - —32+8=(——)=(-3=2
2 2 2 3 (3) ( 3)

1 1 1 1 1 2 1 3

R ERT Xz 5=0)

6 4 4 48 2 5 2 10

3 13 1 303 1 1
4= ()= (-3~ S 2w =

4 C3) =039 i 4732

13 3 1 25 1

6 35 5 () 7 7 O

1 0 1 1 9 1
S 6e2= =3 S 022= (1) = (-4
3 373 2 (73)=(43)

www.snowmath.com



https://www.snowmath.com

